# Wednesday, April 03

RACE 1	Volt <b>2140</b>	RANK
	fully approved qualification and is Daniel three horses in this race. Our winner despite	A: <b>8</b>
this number. <b>10 Global</b>	<b>Freedom</b> followed well in her debut as run- oved by that run under his belt. Challenger.	B: 10-7-3-2-4-5-9-6
	t start and has got a good starting lane. One can win this race. <b>3 Dropthegloves</b> will reach	C: <b>1</b>
	is lane and will be in the mix.	

### Top 4 : 8 - 10 - 7 - 3

### Quinella:

Horses: 7, 10 U-Horses: 8 **Total: 2 x 50 = 100** 

### Trifecta:

1: 8 2: 7, 10 3: 2, 3, 4, 5, 6, 7, 9, 10 **Total: 14 x 2 = 28** 

# Wednesday, April 03



### RACE 2

V5-1

Volt **2140** 

**3 Cherokee Face** won directly in the seasonal debut finishing 14/700. Certainly better form now and should have the greatest chance to win this race. **2 MT Tatanka** puts in consistent and good efforts, but is still has not won after 18 attempts. Good form and will soon score a victory. **5 Free To Ask** has got two runs under his belt after a pause and is approaching top form. In the mix. **6 Dry Martini Grue** followed nicely last time and was also good in the race before. Should not be overlooked.

Тор	Λ.			
	4 '	1		

RANK

B: 2-5-6-1-4

A: 3

C:

Quinella:	Trifecta:
Horses: 2, 5, 6	1: 3
U-Horses: 3	2: 2, 5, 6
Total: 3 x 50 = 150	3: 2, 5, 6
	Total: 6 x 2 = 12

RACE 3	V5-2	Volt <b>2140</b>	RANK	
10 Mellby Lurk made s	several good efforts last y	ear. First start of the	A: <b>10-1-9</b>	
<b>,</b>	ar-old is only close to top t <b>1 Mons Blizzard</b> won afte		B: <b>7-8-3-6</b>	
	ild get a good position. Ea on four out of six starts a	• •	C: <b>4-2-5</b>	
for victory. <b>7 Stairway</b>	n. Is strong and tough an <b>To Heaven</b> is the most ex ck pace would be an adva	perienced in the race		

**Quinella:** Horses: 1, 9, 10 U-Horses: **Total: 3 x 50 = 150** 

pass many opponents here.

**Trifecta:** 1: 1, 9, 10 2: 1, 9, 10 3: 1, 3, 6, 7, 8, 9, 10 **Total: 30 x 2 = 60**  Top 4 : **10 - 1 - 9 - 7** 

## Wednesday, April 03



### **RACE 4**

V5-3

Volt 1640

7 Alfred Zonett is coming back after the break and even if he might lack a bit of pace, he should still be ranked highest in this race. 4 Viking Lane can open guite fast and is the close favorite for the lead after a bit and in that position he will not be easy to defeat. 6 Global Born To Run won easily second last and with a similar effort, the seven-yearold is once again in the battle for victory. 10 Justin Bieber Sisu is not completely reliable, but likes the short distance where he has taken two of his total three victories.

B: 4-6-10-3-9-1-13-5-2

RANK

C: 11-12-8

A: 7

### Top 4 : **7 - 4 - 6 - 10**

Quinella: Horses: 4, 6, 10 U-Horses: 7 Total: 3 x 50 = 150 Trifecta: 1:7 2:3,4,6,10 3: 3, 4, 6, 10 Total: 12 x 2 = 24

RACE 5	V5-4	Auto <b>2140</b>	RANK	
10 Mellby Lion gallope	ed directly in the last run but	came back well and	A: <b>10</b>	
got then locked in with	n energy spared. Normally h	ard to beat despite		
	<b>Edsinette</b> is coming back a		B: <b>4-7-6-9-8-5-3</b>	
a good horse for this	class and could be on the	podium right away.		
<b>7 Staro Roseway</b> follo	wed well in the seasonal del	out and will be even	C: <b>1-2</b>	
better now. Early choic	ce behind the favorite. <b>6 Ne</b> i	<b>nesia Boko</b> is often		

in the mix and should be able to fight for victory again here.

Top 4 : 10 - 4 - 7 - 6

Quinella: Horses: 4, 10 **U-Horses:** Total: 1 x 200 = 200 Trifecta: 1:10 2:4 3: 3, 5, 6, 7, 8, 9 Total: 6 x 2 = 12

## Wednesday, April 03



### RACE 6

V86-1

Auto **2140** 

**6 Global Dash** uses to put in good efforts most of the time. The fiveyear-old can open fast and is favorite for the front and in that position he has taken seven of his total of ten wins. Our pick. **7 Excusez Moi** kept up the pace well as second behind Mon's Tornado in his seasonal debut. The five-year-old is probably improved in form by that race. Will fight for victory here. **1 Young Mistress** can't find the lead with this inside lane, but should get a good position. Quick pace would be an advantage. Should not be overlooked. **8 Ellis Pride** did well last time. Full form, but will find it hard to win this with this poor number.

### Top 4 : 7 - 6 - 1 - 8

RANK

A: 7-6

C: 5-4

B: 1-8-3-2

**Quinella:** Horses: 6, 7 U-Horses: **Total: 1 x 100 = 100**  **Trifecta:** 1: 6, 7 2: 1, 6, 7 3: 1, 6, 7 **Total: 4 x 2 = 8** 

## RACE 7

V86-3

5 Frivoll Gorm has is developing well and comes here with two straight

wins. He is not a quick starter, but uses to finish strongly. Good chance to win. **1 Ängsmodde** can open quickly and has a nice starting position.

Regardless the journey, he is one of the challengers here. **3 Eld Messi** finished well last time as second behind our pick. He could set a new

record here and has to be considered. **9 Eld Loke CG** wins often and despite this draw in the second line, he should not be overlooked.

Auto **2140** 

A: 5

RANK

B: 1-3-9-6-4-12-8-2-7-11

C: **10** 

### Quinella:

Horses: 1, 3, 5, 9 U-Horses: **Total: 6 x 30 = 180**  **Trifecta:** 1: 1, 3, 5, 9 2: 1, 3, 5, 9 3: 1, 3, 4, 5, 6, 9, 12 **Total: 60 x 2 = 120** 

### Top 4 : 5 - 1 - 3 - 9

## Wednesday, April 03



### RACE 8

V86-5

Volt **2640** 

**9 Wittgenstein** won easily in his comeback and even if he met easier opponents, it was a nice impression. Good chance for second straight. **6 Jackpot** has not started since December, but has such high capacity that he should be taken seriously right away. **5 Dalens Elvis** kept up the pace well in his first start of the year. Has won over the distance before and can do it again. **7 Patrick Silvio** has good capacity, but is not always reliable. In the mix without a mistake.

RANK	
A: <b>9-6</b>	
B: <b>5-7-1-10-3-8-2-4</b>	
C:	

### Top 4 : **9 - 6 - 5 - 7**

Quinella:	Trifecta:	
Horses: 6, 9	1: 6, 9	
U-Horses:	2: 1, 5, 6, 7, 9	
Total: 1 x 100 = 100	3: 1, 5, 6, 7, 9	
	Total: 24 x 2 = 48	

RACE 9	V86-7	Auto <b>2140</b>	RANK	
	any good efforts and there		A: <b>7-6-12</b>	
will be difficult to stop d	<i>w</i> . Difficult draw but with t uring the final half lap. <b>6 G</b>	Guli Em comes from	B: <b>11-8-9-10-3-5</b>	
	find the lead, the chances			
• • •	awn, but has the capacity	•	C: <b>1-4-2</b>	
up. In the mix.	has two runs under his be	at and is on the way		

### Top 4 : 7 - 6 - 12 - 11

**Quinella:** Horses: 6, 7, 12 U-Horses: **Total: 3 x 50 = 150**  **Trifecta:** 1: 6, 7, 12 2: 6, 7, 11, 12 3: 6, 7, 8, 9, 10, 11, 12 **Total: 45 x 2 = 90**